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448uppose that the foci of the ellipse %+ y? =l are (f}, 0)

and (f,, 0) where f; > 0 and £, < 0. Let P, and P, be two
parabolas with a common vertex at (0, 0) and with foci at
(f;> 0) and (2f, 0), respectively. Let T, be a tangent to P,
which passes through (2f;, 0) and 7, be a tangent to P,
which passes through (f}, 0). If m, is the slope of 7', and m,

TE

is the slope of T’,, then the value of LF + ’”ZJ is
1
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Solution: -
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4_ e (4) Ellipse: %+y?=l

W

= a=3,b=./5 ande=

S fiT2and =2

Pl:y5=8xandP2:y2=—IGx
s

Ty:y=mx+ m

It passes through (-4, 0),



